2
é a J @ % fire broker, reekkefolge af operationer

Navn: Dato: Score:
LigxZ2o= LR D AV
5 3 4 5 4
1 1 1 1
—+4 — 4= -T2+ ==
5 T3 6% 3 6
1 2 2 3 1 1 1 1
—F =X == - = —_— —— — X = =
5 3 5 5 4 3 6 6
1 3 1 3 2 1 1 1
4+ 4+ xI = e —
2 4 4 2 3 4 3 3
l+gxl—l: l—4xl+2:
4 5 3 6 2 4

www.snowmath.com


https://www.snowmath.com

fire broker, reekkefolge af operationer

N =

el

AW

(1S

RN

W] =

X
N W

N =

oo[C‘J

O\l_*
S| W

N =

p—
ool in

Dato: Score:

N
W —
N —
N —
Il
0
O —

W N
N o—
W =
W —
[

S|

www.snowmath.com



https://www.snowmath.com

